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The ' has a concern that the person may come in contact with the animal and defile it. The 7217% 120
helps mitigate the concern of him being xnvn the o>w7p. But, if the nxmv is nn nxmv, then per 9om> 270
the 1°0 itself would be ®nvn the awal That’s a problem.

291 7""7 (.3) °""wn - Did the x7na really need to invoke 5912 21n?

The answer is not really, but because %2m> 21 is a special halacha that defies the rules.
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2" ana7 nwws 7"'v — If (2) most 2°25 have the w17 of %9n5 27, i.e all except on °%3, and (b) the o> of
5%m2 27m is a function of the role of o°%> themselves, “n7na accessory”, it’s possible that the '»x applied
5%m2 27 as a default w/respect to o°%3. It isn’t so much then *sv xma1> but the average wielded knife, b/c
of what it is will operate on the basis of 57r5 29n.

mwyn?, the common denominator of these is that %2m5 291 is a major w17°n and thus brings something extra
to the table in the 111 X3 which we need to explore further.

What is the nature of this special 7395 of %%2m2 X173 *1 271 which defies the normal rules?

|. nxmw/status of oms 29m. The 1177 9", Four options (from most extreme to least extreme n» status).

(1) niaT XY¥ON/ANYY N3
- (""e72 RUw) 2w "o 287 s the closest to saying this, but even still RMR doesn’t think it’s
possible. "2 1awn nn HW 19130 K907 370 INWOPAW MR DR DY DM APKR X0w 0 Yy A" and 857 xmM"
9915 XIT 7T 20T X7 VWD N2TT WIOANIN N2 D927 RAYW WO 9N 1TITW NINMIL 17X 23 10D *93 0N
- Specifically not w2y nna - (1:1) N nR#w ™57 2 ' suggests to be p7nn between nnn AR and
590 27 9ax, that even if in nn we’d say the 2ax is xnavn from the outside, we won’t say the same
thing in 512 271 20K, i.e it’d only be x»un from the inside.

(2) %7m5 27m ¥"92 "mon"
- "= that a 1wR/nn Xnva Rav makes a 270 into an armws ax! A 210 basically is a 28 nxmw mbn.
(this is n" not acc. to 1an>x "1 and the way 1"n1 read him in 191 1"an7). %37 2n2 5" YR 202"
"ARPIVA AR WY N KA MORT AR
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- SRR acc. to Pwwe »'"aT (and mows)
There are different kinds of 5%r2 21ns depending on how they contract the n» nxmw. If it receives
nxmv through yan then it can be %ax *"y xnwn but if it receives axmv through ax it is “weaker”
and can’t transmit 1w through %nx. This differentiation can only be possible if we look at 271
o9no as a mn, adjusting its rules based on formal o027.
- a7 aswn
a. DI NRXVIT IRMV/RWN DRIV — 5729 MWRP 90 77 (:RY) P27 """ says RD2 nyaw an"
DAR 2777 MINYHY 77231 M 1A 1127 IRYY TRMIIY M7 KOR RWH PRY RWNH2 DTRT DR RHOD 0202
M1 TN NYAYY XWH 172 PR ARV AR RITY D Y AR 1D K1Y,
'®an, however calls out *"w= for assuming nyaw isn’t Xwna xnwvn on the basis of xr™L PR
117 IR RWND RAVAT 27 DT 77 117 IR ARMVY 1D XX RWH DRIV PRT 731 wow "
"RWHA RDV? 97MD RNT 10 Nna avaw nvav 1"m. They think that we should apply xnu?
Xwn1 to 591 271 even though 1oun XY AL PR the same way we say 2171 07717 is, despite
its not being 1o1n XX RN,
sRob, >"w will respond by saying that ar 20wn/o97 is unique, and works outside the
normal rules b/c it’s a ¥"5a mon.
b. mya 8>%%7/%1ma 20wn — (:18) >"'w1 based on the ow "3 says? that ax mwya 21 20wn
nxmvn doesn’t apply to 2 25wn, which if not for some formal m%m type of 17 is hardly
understandable. In fact, 2swn %1a7 7" aw "o throw their hands up, "0 wmn'".2
C. (:2) "2 'o1n — The "»a establishes that with respect to Iz we say R¥1°3 X7 17°M710
113, for while the ax is 2791 7R Ravn, a 7720 iS PRPwY 1P Xva but not o°901 o7, 'own
wonder why the 'mx doesn’t refer to 57m5 2917 as an example in a8 of 172 XXV 1MTAN.
After all, a nn x»v makes the 55n2 29 like it, i.e to be o°901 7R Xnwn. But, as " s
(:39) p"'2 spE2D 77 points out, they don’t ask about 2177 20wn, which is also o7R Ravn
o', and should also be an example in axmaw of 372 kx5 37°M7210. Why, then, didn’t 'oin
ask from there, and concurrently, why isn’t it an example the "3 would bring up to prove
172 XY 377 w? He suggests, as did RMR, that maybe it’s b/c arn 2own isn’t really a
77230 per se but functions as a myy *192 mn. Even though it has the properties, then, it
still isn’t a 7770 vis-a-vis the question 172 XX 1R X XX 77°MT7N.
(3) nn% a1en (and also n» NI HWw XY¥OM) Or N XA 2w Reomn. Second-degree contact with ni-itself or
invisible sparks of nn nxmw/nn.
- Maybe, (3:X) %' "7 2" 2m9 — "Iy NP2 PANS 332 PAEY 1777 2R 12 vaNa 1A 1R IR0 o075
(4) R Man7/a3077, a.k.a superconductivity
- (R:2) P17y ,(:R) 2°me5 2"'P7 — DX LAR IR OX ,7TMND WY NN NRMIVI WA 071 o1 yIin vk v
NRD MR "R WY1 NN VAW 2,991 KIT 07T 270 10T ,200 5902 (0™ 12712) 20007, 1IWRD DR
"0 o) YN 0992 IRW 2% P ORI, AR 2957 9" WY1 R RIW N1 Xaba vawo mey.t
1o MIX 2omes w2 explained 2"y and i1''1 as being about how we look at the issue of &nun 2R
o3 Knun 721 PRy 00, If the issue in general is that only an ax can be xnun a >25 but a pwRA
cannot, then even in/with %5m2 29, a PWwRA can’t transmit AR to be Xnawn the %910 290, If the
issue in general is that a *25 cannot be xnunn by a pwrA but only by an ax, then even in %% 27 it
shouldn’t be able to receive nxmw from the pwxA. But, if the issue in general is that a *22 cannot
become a "1w, then there will be no issue whatsoever in n> 2717 where it will become a nwRA via
contact with this nn w2 xaw/)wRa per superconductivity. That is how 1anox "1 explains this.

" QTR KAV RV AR AW WRY 2T 2DWAT DR XOXI? 21057 N5 (0 /R0 OW) 125Wna ¥R WK UK - 120wn" 92
"y""9% 25Wn RALA TIAMT MAX 1DWH 233 1R 21 DR 1071277 M0 PR A ok 3
4 Sounds like n»2 271 has not only status/level of axm as a nn, but also the identity of the source itself, as opposed
to n» xnwa 271 which only has the level of axmv as a nn &nw but not the identity of its source. nna yaw 29 is 2
whereas m» Rawa yaw 29 is just an ax. Perhaps, on that level n» &nws 27 is a generic axmw, something 2" 1"
spoke about.
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I1. 29397 connected to %»m> 29m, and interfered with/affected by ®%n> 29n

As a general suggestion, Rav Rosensweig said that n" is expansive likely b/c he thinks most 2°17/m3%:
are ">n on XM M7 whereas the o"ana, where he limited it is b/c he thinks it’s a function of being »on
on nn Yw R¥on/mey na. (Rav Rosensweig even said this is what the 11297/&kn*987, 21910 *1272/87p2 wWYDH
guestion is about)

DIIN2 RALA

(3:7) "M a"ana ,(.2) 221 0" A 3" ana — No. "aRa mn 0 7R 303 nR" (3"2n0). Only won by n», so
not applied to 5%m2 27,

(272 7°13) N9/ 2o 1an - Yes

PRRID %' 98% Re — I 9nX "y 590 a9, no. But, if v 0"y Hono 29, yes.

ftaly liry Al sl \valefata)
=""79 995 »9R% — Not N 5 "y Xnvnn
72 2% /7" ana n'' — Yes xnunn.

XWN

n"aw 3"ana — Yes. (98w nanon — based on the 1"'p from 772212 Rwn. 79221 is only wan "'y 29y nRMY XHw»,
but nn is 1w o'y avaw nrmw ’nvn. 1"p from 772212 xwa. If it is only yana 27y xnwn and Nk is even xnvn
yana vaw, then of course nn is Xwna &nvn, and by extension 21n which is 99n3 (and is myaw nxmw Xnvn
through van). That’s the »"xan.)

(:R¥) 197 IRR/(30:57) N nRaw "B 2 ane — No. We said no 9ix b/c it is only won by nin; not 51> 2.
Thus, it’s also v1ws that no Xwn nxmw since not even X1pa won by ey nn.

WV MWW DRI

13 370 21 /0" — Yes

(o731 0w PR3 R2IT) MIRBT Ha/7"" 2 — NO. ¥AI7 9¥) oW 7 WK niwoga Dy 090 93 ) Paka by oy
"32P2 IR N2 iX Yoma iR oxya (321 — only says %913, not 290 9omna).

(m:3) 792 ™o 2" ann — There is a distinction between 211 who isn’t ' 'x P and others who’ve contracted
N that are ' '3 P 93 92K L7032 700 AT TR 0D AR 30w CwUowa ATe K 1R 2yl o002, A"
"N NRMIY MOPI2 INRIANW 11D YAV WIHWI 1 YW NRMIY 932 RPLIW DR,

[The aw 7''ax= disagreed on two points (at least the first and | think possibly the second). First, like his
TOW in (R:77) DA AR ™95, Yono 29 is limited to 1an (when the v93 s still touching the nxmw-source),
"o KOR KR MRIPna 91", And, secondly, once it makes the cut of being 5%n2 29m, it will function the
same way in each, i.e there will be ' s nxrin all or in none: Xnv  DIRAW 1ARW 2 R 0192 11K 77 90"
"2V IRMIL 1NN KW PR N1 2931 °902 DX TN PN KOR AR R IYIW DRMID? NP2 DY 0°932.]

T2V mRANn TINW RN

n'"v—Yes

(7:m) N xR " 7"'aRa/3"ann - No

172 291 "3 — No, for if we say yes, what will be of n°21 n*2 922 375 who we’d treat the same as 2.

T2Y 1N 1798w AR™Y
n'"= — No. He is ponn explicitly between 2°11 who is and 3735 who isn’t (2"2 7"an0).
3"'ans/3ms 21 ' — No

WIpn IR*2
P9I 3" ana2 K217 7'aR" — Yes. He says so on n» Xnwva vaw 271, and likely a 'y for nna vaw 20n.

(7:7) n2 a2 ana — One is only 2»n for wpn nX*2 on "72%2 onwi". On the person who touched
the nn, and the next person who touched him, i.e who touched the nn &nu. If either of those enter the wipn
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or eat o*w7p they are n75 2>n, "nMN 172", but others (i.e Wwaw 02952 YW QTR Y21 IR DTRI WAW 02952 YA
nn1) are not — "1 77N WIBNI KD MW 77N PT IR 792p 727 1w, See there for the rest.

The 7'ar" here disagrees on two accounts.

(1) The o"ann’s assumption that these other mxmw are 1312777 (and the »''e> defends the o"ann saying he
doesn’t mean to say 11277 1°7 but that 7702 ywasn1 X2/7710 197 WR/A92p a7 can belis still a different kind
of Xn»K7 7.

(2) What qualifies for 1277 nX27/n7 21°1 0N wWIpn DR,

With respect to (1), the 7"2x7 says ORI 77 RI7 27992772 0K 11°N127 21272 YOV IwWRw o 93 WK T R
™27 W 19 1°RY R 2 70 7. He doesn’t like the o"ann because he assumes he is calling 13277 these
other mxmw. The »'"o> defends the a"an9 on the principle developed through mxnn 2902 owAw that they
are just called 1792p *227/21910 277 even though they are xn>x7s. Either way, that’s the 7"ax~’s first
problem. But, definitely not his only one.

(2) Ironically, even though he thinks all "mxm 1" (see 7 13%7) are Xn»7R7, are "mxIpna 1" (as opposed
to his take of the 0"an7) he thinks even less of them are 2>n on w1pn nX°a. For the o"ann it was the first
two contacts, and for the 7"ax" it’s only one who touched the n» itself, even though nn &nva yaw n is
actually xapa won.

After all, o°52 NP1 a7°2 Avpn 7090 that one isn’t nn NIV WP NR*2 Y a0 unless it is also nxmv
o7y 123 1w and when it comes to 2011 we find that he is only n2ann when he is vxy nina va1, but not
nn k2w nvana. Also, a 2 is not mhan on B9 39, Thus, only nna ¥aw 07X is wipn NR°aR 120 b/c only
in that case is n2ann 2°13, and not even nn Xnv2 oI,

1. To which implements is ¥»r2 291 applied?

1715 291 1339/n" — Only monn %5

(3:77) n» nRPIL "7 7"ara — Any material of *93 but only if still attached to the axmw-source, i.e "112°m2".
(2:% mbrR) w''12 w7 — Any material of °93, but only the murder weapon itself: 55m3 X7 >97 2977 W o
"MIAR PAR TWYI 12 37 OR I 21 VW 29 RIW R 277 RIW R? 0aiT 12 D97 R RPIT A,

(3-R:57) N2 NRRIY BT 2" ana/a" Y/R " 1ERI0n PRRs ' — nuw 0932 12 Monn 2951 Pa.

Closing remark — %515 271 5w 110

What’s interesting about this a''am»=, even as opposed to the v"nom°0n °"9, is his upfront emphasis on
0°733, 0N "onTawY Yeaws 012 03°732 anoax" before ever mentioning the 17 of %%n5> 21n. As opposed to
o2 (:73) 7012 'own who see onoad as an expansion of 5%n5 21, i.e no longer limited to nna vaw a7 but
extended to nn &nva vaw 297, the 0"an seems to see onoad, the clothes a man wears in the moment he
himself became xnv through a nn», as the default, the 7p°v. Even as he interweaves them together, 7397 w™
2 > 21297, repeats 2 7097 after 2 719%7°s introduction to 99m5 R °97 270 "29n Yoma", he still constantly
returns to o>7xa (see » 1,3 moY:a) perhaps highlighting at least the conceptual role o>13a plays other than
just 2117 alone. 7"'v®, the idea is the all 2>%> are defined by man, as accessories, adjunctive to man. On the
one hand, o°73 are made functional through man’s say-so, his having found utility and purpose to it ( *2x7
TRmI 27, AP r0aa). Its status as a 9> is dependent upon man. It is to the extent man or mankind
finds a use for it. On the other hand, once it is a *»2 it actually enables man to have greater reach, more
efficient and precise functioning. In both of these senses, they are accessories and thus when someone
comes in contact with a *2> it’s as if he is virtually touching the n» or n» x»v it serviced itself to. B/c of
how connected it is to man, n» or n» &nv, one Kind of “sees” it through his contact with the *%5. It can
actually be nicely pinned on the words the o"an2 himself uses to describe, characterize the 5712 291 —

(3 7997 W) "y nma pa 372 waP 7 A" As such, all o°%>, any which one used and that functions in
this way, as opposed to ppwn1 12ox and as opposed to a new, separate person who comes in contact, all
o°%2, 07321 AU °752 12 Monn *H3 173, that metaphorically cloth the man will have this rule breaking 271
55> status.
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